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Mathematics, Class – IV 
 

Name: ___________________________   Roll Number: _________    Section:_______ 

 

Q1. Fill in the blanks:   

a. Half of a metre = ________cm. 

b. 3 quarter of a kg = _________ g. 

c. Half of a dozen = ________ 

d. 252 ÷ _______ =  1 

e. ______  ÷ 3625 = 0 

f. 125 × ______ = 125000 

Q2. Without actual division write quotient and remainder 

a. 265 ÷ 10              Q =  __________            R = ____________ 

b. 1734 ÷ 100           Q =  __________            R = ____________ 

c. 734 ÷ 1000           Q =  __________            R = ____________ 

Q3. Divide and write the quotient and remainder: 13482 ÷ 12. 

 

 

 

 

 

 

 

Q4. Divide and verify the result:1432 ÷ 13 

 

 

 

 

 

 



Q5. The product of two numbers is 21456. If one number is 36. What is the other one? 

 

 

 

 

 

 

Q6. 19 chocolates are to be packed in a polypack. How many polypacks are required to  

        pack 2546 chocolates? 

 

 

 

Q7. Study the following pattern and write the next two steps 

       1 × 8 + 1 = 9 

       12 × 8 + 2 = 98 

       123 × 8 + 3 = 987 

       1234 × 8 + 4 = 9876 

       _________________________________ 

       _________________________________ 

 

Q8. Find the value of  

a. 
 

 
 of 20 pens                         b. 

 

 
 of 15 boys 

 

 

 

Q9. Salma read 
 

 
 of the book in a day. If the total number of pages in a book is 112. 

        How many pages did salma read in a day? 

 

 

 

 

 



 

 

Q10. One Kg of onions cost Rs. 32 , find the cost of half kg of onions. 

 

 

 

Q11. Cost of 24 Kgs of potato is Rs. 2448. Find the cost of 1 kg of potato. 

 

 

 

 

 

Q12. Cost of 1 litre of milk is Rs. 38. Find the cost of 
 

 
 litres of milk. 

 

 

 

 

Q13. Complete the pattern 

a. 10, 20, 30, 40, ____, ______, _______. 

b. 3, 6, 9, 12, _____, ______. _______. 

 

Q14. Cost of 1kg of apples is Rs.80 and cost of 1kg of grapes is Rs.120. Find the total  

         cost of 
 

 
 kg of apples and 

 

 
 kg of grapes. 

 

 

 

 

 

 

 

Q15. Divide 8754 by 17 and write the quotient and remainder.  



 

 

     


